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CLUE #5

Note: See diagram on page 2.

CORNERS

First Corner: With RS facing, join
A with sl st to first sc of 14th row.

**1st row: (RS). [(Ch 3. Dc2tog)
counts as Dc3tog]. 1 dcin each of
next 14 sc. Dc3tog. Turn.

2nd row: [(Ch 3. Dc2tog) counts
as Dc3tog]. 1 dc in each of next
10 dc. Dc3tog. Turn.

3rd row: [(Ch 3. Dc2tog) counts
as Dc3tog]. 1 dc in each of next
6 dc. Dc3tog. Turn.

4th row: [(Ch 3. Dc2tog) counts
as Dc3tog]. 1 dc in each of next
2 dc. Dc3tog. Turn.

5th row: [(Ch 3. Dc3tog) counts
as Dc4toq].

Third and Fourth Corners:
Rotate work 180 degrees. Work
as given for First and Second
Corners.

TRIANGLES

First Triangle: With RS facing, join
A with sl st to 3rd sc of 3 sc cluster
at top of right-most chevron.

1st row: (RS). [(Ch 3. Dc2tog)
counts as Dc3tog]. 1 dc in each of
next 5 sc. Dc5tog. 1 dc in each of
next 5 sc. Dc3tog. Turn.

2nd row: [(Ch 3. Dc2tog) counts
as Dc3tog]. 1 dc in next dc.
Dc5tog. 1 dcin next dc. Dc3tog.
Turn.

3rd row: [(Ch 3. Dc4tog) counts
as Dc5toq].

Ch = Chain(s) Rep = Repeat Fasten off. ** Fasten off.
Dc = Double crochet RS = Right side

Dc2(3-4-5)tog = (Yoh and draw Sc=Single crochet Second Corner: With RS facing, Second to Fourth Triangles:

up a loop in indicated space. Slst=Slip stitch join A with sl st to marked sc of ~ With RS facing, join A with sl st to

Yoh and draw through 2 loops  St(s) = Stitch(es) 14th row. Rep from ** to ** as  3rd sc of 3 sc cluster at top of next
on hook) 2(3-4-5) times. Yoh and  Yoh = Yarn over hook given for First Corner. chevron.

draw through all loops on hook.
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Rep 1st to 3rd rows as given for
First Triangle.

Fifth to Eighth Triangles: Rotate

work 180 degrees. CORNER
Work as given for First to Fourth

Triangles.
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TRIANGLE 3 H&i STITCH KEY
I—f—l\/\_l_ — = chain (Ch)
. 4 o —{ double crochet (dc)
2 T ‘§ |\\+ » = slip stitch (sl st)
—+ -|— = single crochet (sc) /)[ double crochet
IT—{¥X —+ 2 together (dc2tog)
7A< = single crochet
X+ + + + + _I_ + + + _'L N 2 toglether ﬁct2tog A = double crochet
= single croche
—I_/—_ m 3 tc?gether (sc3tog) 3 together (dc3tog)

= double crochet
4 together (dc4tog)
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